PAGE  
8
v. 1


ISP100 First Hour Exam, Fall 2002(1)

Name ______________________________

· Write your name clearly on the first page of the exam.

· Bubble in your name and full 9-digit ID number on the back of the answer sheet.

· Bubble in the version number (following the year above) of your exam.

· Bubble in the appropriate letter on the answer sheet for each of the questions.

1. Which of the following is not one of the four functions of mental constructs about reality?

a. description

b. explanation

c. modification

d. prediction

e. replacement

2.  These mental constructs include:

a. data and inheritance

b. data and adaptation

c. information and knowledge

d. knowledge and modelling

e. mimicry and routing

3.  Shannon’s “information theory” is concerned with:

a. accurate transmission

b. precise meaning

c. influencing behavior

d. all of the above

e. none of the above

4.  Th_s  quest_on  dem_nstrates:

a. realism

b. redundancy

c. research

d. resolution

e. retrieval

5.  Which of the following would be an example or symptom of the most purposeful way of transmitting knowledge?

a. ISP 100 lecture notes

b. red hair

c. a cast on a broken arm

d. a character string

e. a reference source in book format

 6.  Which of the following is not related to a domain name server?

a. ARPA

b. resolution

c. albany.edu

d. white pages for the Internet

e. DNS

7.  An IP address is:

a. a unique identifier for a computer on the Internet

b. a social hierarchy

c. .au, .ca, or .uk, for example

d. centralized

e. a domain name

8.  The design of the Internet is:

a. centralized

b. concatenated

c. decentralized

d. disenfranchised

e. distributed

9.  The Internet is:

a. all of the email messages that are being transmitted at any one time

b. the worldwide collection of Web servers

c. restricted to .com and .edu domains

d. all of the above

e. none of the above

10.  TCP/IP gives rules for creating and transmitting:

a. bits

b. packets

c. character strings

d. email messages

e. mental constructs

11.  To the extent any organization is in charge today, the Internet is run by:

a. ARPA

b. BBN

c. DOD

d. ICANN

e. SRI

12.  Within four years of starting, 75% of the traffic on ARPANET was:

a. email messages

b. packets

c. researchers running computer programs

d. spiders indexing Web hosts

e. Web pages returned to browsers

13.  Ray Tomlinson gained fame (but no wealth) by inventing:

a. “spam” email

b. the Web browser

c. TCP/IP

d. the emoticon

e. the use of “@” in email addresses

14.  Why was 1992 a landmark year in the history and growth of the Internet?

a. first successful test of packet switching

b. number of Internet hosts passed 1,000

c. number of Internet hosts passed 1,000,000

d. original ARPANET shut down

e. NYSERNET linked to NSFNET

15.  Robert Taylor was responsible for:

a. packet switching theory

b. inventing Ethernet

c. providing original funds for ARPANET

d. creating AltaVista

e. creating original keyword table for ADVANCEWeb

16.  A bibliographic annotation is most likely to do which of the following?

a. describe the content of the source

b. explain the relevance of the source

c. evaluate the reliability of the source

d. all of the above

e. none of the above

17.  Which of the following is usually the purpose of a scholarly source?

a. to entertain

b. to inform

c. to report research results

d. all of the above

e. none of the above

18.  The author of a popular source is usually:

a. an expert in the field

b. not an expert in the field

c. an unpaid (“open-source”) volunteer 

d. a photographer

e. a newspaper reporter

19.  Which of the following would probably not be a multimedia source?

a. a Government (GOV) document

b. a CD-ROM in the IMC

c. an online audio file

d. an audio cassette of an interview

e. a taped episode of Friends
20.  Compared to print scholarly articles, online scholarly articles are:

a. online, but otherwise identical

b. written by less-expert authors

c. more likely to include photos and other illustrations

d. intended solely to entertain

e. unlikely to cite their sources

21.  Which of the following can you not do from the University Library Web site?

a. pay a fine

b. send a question to the Reference Desk

c. see if a particular book is a Reference source or a Government document

d. recall a book

e. submit an Inter-Library Loan request

22.  Which of the following is not available in the section of the Library Web site on Instruction & Tutorials?

a. Researching 101 tutorial

b. an explanation of the difference between primary and secondary sources

c. instructions on How to Locate Newspaper Articles

d. online form to recall a book

e. instructions on How to cite according to APA style

23.  The Library Web page on “Research a Subject” is organized by:

a. APA Style categories

b. academic Departments

c. Library of Congress numbers

d. Dewey Decimal numbers

e. EBSCO keywords

24.  Under each “Research a Subject” heading, librarians have often provided links to:

a. Internet resources

b. Reference sources

c. databases and online journals

d. all of the above

e. none of the above

25.  ADVANCEWeb allows exact searching by:

a. academic Department

b. Full Record

c. title

d. all of the above

e. none of the above

26.  Which of the following was not part of Doug Engelbart’s “mother of all demos”?

a. hyperlinks

b. videoconferencing

c. the browser

d. the mouse

e. word processing

27.  The proposal for a “Global Hypertext System” was written by:

a. Vannevar Bush for Memex

b. Ted Nelson for the Xanadu Project

c. Doug Engelbart for the oNLine System at SRI

d. Tim Berners-Lee for CERN

e. Steve Jobs for NeXT Computer

28.  Which of the following is unrelated to the history and development of the browser?

a. Memex

b. Mark Andriessen

c. Mosaic

d. Tim Berners-Lee

e. Viola

29.  In 1991, the first Web server in the U.S. went online at:

a. AOL

b. BBN

c. MIT

d. SLAC

e. ZIMA

30.  Web structure is controlled by:

a. Internet wiring

b. hyperlinks on Web pages

c. computing capacity for indexing Web pages

d. financial resources of search engine companies

e. number of volunteer editors at open directories

For matching questions 31-35, each answer is used only once.

31.  artistic

32.  connectivity

33.  topology

34.  conceptual

35.  traceroute

a. see slide

b. see slide

c. see slide

d. see slide

e. see slide

36.  Which of the following always apply to a Web directory?

a. tree structure, balanced coverage, and context-based

b. tree structure, purposeful browsing, and editors

c. balanced coverage, purposeful browsing, and granularity

d. editors, unlimited scope, and efficient searching

e. purposeful browsing and unlimited scope

37.  Which of the following always apply to a Web index?

a. topical structure, granularity, and efficient searching

b. unlimited scope, tree structure, and machine-created

c. no quality review, tree structure, and purposeful browsing

d. machine-created, editors, and no quality review

e. high user proficiency, granularity, and machine-created

38.  Which of the following retrieves Web pages for the database of an index?

a. spider/crawler

b. indexer

c. query processor

d. all of the above

e. none of the above

39.  Which of the following is least likely to matter in keywords for a Web search?

a. length of individual words

b. distinctive or unique words

c. upper vs. lower case

d. spelling

e. order of words

40.  The search engine that has the most pages in its database is:

a. AltaVista

b. Dogpile

c. Google

d. Lycos

e. Yahoo

41.  Which major search engine defaults to Boolean ‘OR’ when two words are entered with no other instructions?

a. AltaVista

b. Google

c. Yahoo

d. all of the above

e. none of the above

42.  Using double quotes to enclose a search phrase is:

a. only available on AltaVista

b. only available on AltaVista and Google

c. only available on AltaVista and Yahoo

d. almost universal among search engines

e. universal among search engines

43.  The purpose of nesting is to:

a. distinguish open and closed directories

b. find hyperlinks that no longer work

c. find words that begin with the same root

d. combine search operators and lessen ambiguity

e. evaluate high-quality Web pages

44.  Which of these search strings will probably return the most hits on a given search engine?

a. boundary AND dispute

b. boundary OR dispute

c. “boundary dispute”

d. “boundary dispute” AND resolution

e. “boundary dispute” NEAR resolution

45.  What must be changed in this search string for it to work in AltaVista?


“boundary dispute” AND (Canada OR (U.S. OR “United States”)

(HINT: All of the changes could be made, but only one of them must be made.)

a. replace Canada by Canad*

b. replace AND by NEAR

c. replace AND by AND NOT

d. put U.S. in double quotes

e. put ) at the end of the string

For matching questions 46-50, each answer is used only once.

46.  UCLA

47.  first commercial mouse

48.  TCP/IP

49.  Netscape

50.  “Now you just try to steal one of my emails….”

a. Scott McNealy

b. Bob Kahn, Vint Cerf

c. Len Kleinrock

d. Steve Jobs

e. Marc Andriessen

